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This will morph into Fig. 8b for the right side of Walt’s Figure 8.
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Figure X3: Total seasonal ET and # weeks NDVI >160. Will remove 95% confidence lines, as Walt does not use them.
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Figure X2: early season ET and NDVI.
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Fig X1. 
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Figure a: ET parameterization not very sensitive to start of season.



Tables:
NDVI and ET vs. Temperature and Precip. correlation table

Supplementary Figures:
Fig. Sa – Smooth NDVI curve vs. “raw” curve
Fig. Sb – NDVI curve illustrating how hard it can be to define the SOST.
Fig. Sc-Sn – Climatographs 

Supplementary Tables:
S1 add my weather sites to Walt’s list
S2 Crosswalk the different time steps to weeks.
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1st Wks: WkMedTavgGDU_GE1, SnowFree, SOSTthresh. 1st Wks: WkMedTavgGDU_GE1, SnowFree, SOSTthresh.
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